AP DIGITAL ASSISTANT KEY 2020 (SET D)

- Prepared by Achievers Academy
e 4 VDA
Ote (Q. No. 1-3) . Note (Q. No. 1-3) : “
Study th ; p g0 80 (1<l
e fnlluwmg table carefully and | &+ 208 Gesdss erem S8 G ﬂ}j:u:r 25
answer the Questions given below it. SErEres cramed. DI SHR JTEBT
N““}her of students from various Colleges Sl
playing various games : Games Colleges
Games Colleges B oakige Rl B X T
0
Fookiii P Q@ R S 2';} Football 195 250 100 175 20
0otba 1256 250 100 175 225
Hocke 175 200 195 245
Hockey 175 200 195 245 226 | ) 215 2001
Cricket 250 200 225 215 200 | Cricket 250 200 226 B
Tennis 240 210 200 130 165 | Tennis 240 210 200 130 16

Basketball 75 195 55 45 100 | Basketball 75 125 55 45 100

1. If 20% of the students playing Football L. P& dood 20% dorgiged yeSerd elelenty
from College P also play Basketball, eSS i, POdd S0k erayts &6
what would be the total number of

oG DorgiesBwEo o ?
students playing Basketball from
College P ? (1120
(1) 120 : (2) 125
(2) 125 (3) 100
(3) 100+
(4) 110 (4) 120

2. The number of §tudents playing Hﬂﬂke? C9. T o8 So0d 8 e :JU“SCEQ}S PSP

from College R is approximately, what R =82 5008 954 esd oo THo Job 9
percent of the students playing Hockey
from College T ? (1) 87
(1) 87 v 2) 65
(2) 65 @) 84
(3) 84
(4) 80 (4) 80
(I
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3. What is the difference between the
average number of studentg playing
Cricket from all the Colleges and the
average number of studentg playing
Tennis from all the Colleges ?

(1) 21

(2) 36

(3) 29 v/

(4) None of these

4. Today is Varun’s birthday. One year
from today he will be twice as old as
he was 12 years ago. How old is Varun

today ?
(1) 20

@) 22

(3 25 v
4) 27

5. Find the next number in the following
number series :
120, 99, 80, 63, 48,
(1) 35
(2) 38
(3) 39
(4) 40

6. T 850 is divided ‘among 4 mén,
5 womenrand 6 boys such that the
share of a man, 2 woman and a boy
may be in the ratio 9 : 8 : 4. Find the

ghare of a woman.
(1) 62
(2) 64

(3) 66
(4) 68+
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4. BB 3065 DI B 5:6%> 00D &8
. Sosehoo w26, 12 soiore 8o e 50109
3eJo e:9) 5008, 0B Bablert $085

(1) 20
(2) 22 ,
(3) 25 s
(4) 27

5. S¢EoBBERS® BLiTaw Sogg 20 ?
120, 99, 80, 63, 48
(1) '35 -
(2) 38
(3) 39
(4) 40

6. T 850 o $e0/HE D, HEHOE Yoo

SoBa0 eI erend oS 9:8:4 25385
PARIRSS 33“53.&001133’1,3;':@;}9& ?

(1) 62

(2) 64

(3) 66

(4) 68
(D)



e .,

The profit earneq by selling an article
for ¥ 832 18 equal to the loss incurred
When the same article is sold for
Y448, What should be the sale price of the
article for making 50 percent profit ?

(1) ¥ 960 <~
(2) 1,060
(8) T 1,200
(4) T920

8. Ramu is fifth from the left and Raja is
twelfth from the right end in a row of
children. If Raja shifts by three places
towards Ramu, he becomes tenth from
the left end. How many children are
there in the row ? '

(1) 21
(2) 22
(3) 23
@) 24

9, The average age of a husband, wife and |

a son three years ago was 27 yrs. and
that of his wife and son 5 years'ago
was 20 years. The present age of the

husband is
(1) 40 ~~
(2) 35

(3) 30

(4) 25

vsDA
, 20 ©
7. o 5 s 3 75 :3.:;: 255750
Si%y%> T 448 & 020 52 ° o5
50% wrgio orreot) & 533920
wSr® ?
(1) T 960
(2) % 1,060
(3) ¥ 1,200
(4) T920 |
&
B o Seiss ks eio Sools 053 HE"

& &y

gt 12 % o
oo 8 DS ool i ottt

Tre, OPiSo0 Py BT L0 .
Nessso D56 Bood $65H S &0LT0

SE36° o oo BHpesTy® ?
(1) 21

(2)° 224

(®) 23

(4) 24

9, Soreh Hon SBo g8, 80 LBTrond AooY),
KOoPsB Saiyy 27 Hon HoBak & o §do

g, SBFCD Doy 20 Son gk Aoy
E5xgth Sady Jo8 ?

(1) 40
(2) 35
(3) 30
(4) 25

(D
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questiﬂn given beloy
The ™ art of the sentence

ith? " ves f . erlin
with atives for the underlipg

r .
“,H:u, One of them is correct, [q art are
gl:,[gct one. entify the
co

e informed me that ey s
¥ M%

(1) he would visit my h
two

(9) he visits my house in 4

(3) he could visit my b,
coming two days

(4) he couldn’t visit my hoyg =
or two

Ouse i a dﬂ‘y -
da}r or two
Use in the

in a d&:,l’

% Consider the sentence given below -
[t is often the that everyq
- = n
agrees aboutobjectivesthe disagreer::;ani
. about exactly how they are to he
achjgved.
Choose the correct option from given

below :
(1) view, follows

(2) case, arises +*
(3) situation, talks
(4) happening, matters

The question given below has a sentence
withapart of the sentence underlinéd. Four
alternatives for the undetrlined part are
given. One of them is.eorrect. Identify the
correct one.

12, Iwould rather work twelve hours a day
in the office than sitting and watching

the television at home.

(1) than to sit and watch

(2) instead of sitting and watching
(3) than to sitting and watching

(4) than sit and watch «+*

VSDA

i has a sentence
tion given below ‘
Tl'u;-l qufrt of the sentence unflerllned. Fﬂl].:;
“?t aEtives for the underlined part Ehe
g'tiﬂ One of them is correct. Identify
iven.

correct one.

10. He informed me tha
ougeinad

t he will vigit my

(1) he would visit my house in a day or
two

(2) he visits m

(3) he could v
coming two days '

(4) he couldn’t visit my house 1n a day

or two

y house in a day or two
isit my house in the

11. Consider the sentence given below :

It is often the that everyone

agreesaboutohjectivesthﬁ disagreement
about exactly how they are to be

achieved.

Choose<the correct-option from given

below :

(1Y view, follows

(2) case, arises

(8) situation, tallks

(4) happening, matters

The question given below has a sentence
with'a part of the sentence underlined. Four
alternatives for the underlined part are
given. One of them is correct. Identify the
correct one.

o

12. I would rather work twelve hours a day
in the office than sitting and watching
the television at home.

(1) than to sit and watch
(2) instead of sitting and watching
(3) than to sitting and watching
(4) than sit and watch
(D)
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13, i
Which of the following was the first

couy
pa lr‘ltry to allow women to vote in
Flamentary electiong ?

(1) New Zealand ‘,
(2) Australig

(3) India
(4) Finland

B

14. The Andhra Pradesh Government
has launched a scheme called as
“YSR Cheyuta Scheme”, Which of the
following would be the main objective
of launching the scheme ?

(1) To give due respect to the rural
farmers in recognition of their
contribution to the agricultural
sector

(2) To reduce the gap between the
urban woman and the rural woman
in accessing financial resources

(3) Conduct a survey of all uneducated
rural woman and provide them
with basic skills

(4) To give financial agsistance to
every adult woman who attends
vocational education elasses

i

15. Theslogan Right to Know is the Right
to Live’ was given by

(1) Parivartan
(2) Mazdoor Kisan Shakti Sanghatan</
(3) Foundation for Democratic Reforms

(4) India Against Corruption

. £
18, 35208 2Ryf08® 327905

14, esoi53BF P @vﬁoﬁiﬂmﬁ

ySDA

oRadly

Dy00i5 DoseRacied BEO:

(1) isrg@eorob
(2) esiydawr

(3) godatr
(4) hSoob

“, ;{3.'&55
Solrs sE80” Moo, S0P &gt

Ao
(1) S8rasoms ERG R E
BAS TE50 Faygto

(2) s si5to0 SSEOS T0F? 5’:’“""’2
b e
SoBos Sesefango 300k & 008
shotieso
(3) VLoD [roes S 2pyoso S0 R,
762 3 PHeTE AoBEO

(4) )8 655 BesKBoLL Do SATES
Solrden esfs vtk Tolalsinlete

15. Right to Know is the Right to Lave’e
Qe 158 T 2
(1) 30585
(2) Soemb 833 #§ oo
(8) Foledd Hb TAFELIE 65y
(4) oGty KR $BIS
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16, “Nadw nedu™ is a progeam of the

government of Andhen Pradogly whieh
secks to

(1) track the historienl events that led
to the formation of Andhra Peadesly
of the present. day

(2) transform government schools
into vibrant and compotitive
institutions

(3) encourage youth to learn the
ancient sports and games of Andhra
Pradesh

(4) to provide social safety net to
the children in need of care and
protection

17. The “Naipunya Vikasam” programme
of the Andhra Pradesh Government

seeks to

(1) enhance employability skills of
under graduate and post graduate
students

(2) to generate sustainable livelihaud
for unemployed tribal youth

(3) to create future ready students by
introducing a blend of computer
skills, life skills and soft skills

(4) to encourage online learning 1n
engineering colleges

VSDA

4 ad uith
; sy :‘ "n"'d‘-'-) uC-J
10, copdd (P Saaedi)

£ ] "1 B
Wiptio tihj'.'fb .'JJJ:IJ& Uit o,

¢ 4 O
(1) :&rﬂ'aoﬁi[{hﬂrf Dirytaatis 0dni oo

Ll
sondsisein @ aabotitio

(2) (6l Irvoibs (o Boton H:0000
e sy MO ot ARG

(3) wosdiod™ @i dduits 0f%Y
Doqder @Fyrotitie

(1) eroots GSISERNS S B0aky O
Hyo iyl el ST ES Ui Soakri)
wobotitio

17, SOGOBE [3ehts0 BHTadS “Diyeag I

gy ” citdo

(1) S S0k regadadS Jorghie
D pfreso Wod GE'gY T FEron
VG OEo

(2) DB N0 Dspots AL BT 0
Sy

(8) Soriyrgel Pipemges, BIY PReTHo
300050 Fp Gy ool PIJBIH
BB ¢iot Agiom Baeio

(4) qo8N0of Fvrarod’ widd odphRds

@yroiitio

(D)
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10

18. The Tropie 7
thrﬂughpwh?:hc:;ze: gd;: ;;;i: :’:; 18. £ty 08p & GoB D B T 29
States ? o0
(1) Gujarat
(2) Rajasthan (2) cers
(3) West Bengal (3) %ys> Do
(4) Odisha < il

19. Which of the following rivers does not | 19. &+ @08 1 6 Bz 055562 7
make a Delta ?

(1) Mahanadi (1) 505996
(2) Godavari (2) Rosd
(3) Tapti o @) 59
(4) Ganga 0

20. The Nathu La pass is located in which | 20. “mrgo & F5v 207508 &b ?
of the following States ? (1) eSS0
(1) Arunachal Pradesh
(2) Himachal Pradesh

(3) Uttarakhand
(4) Sikkim </ (4) 3% 0

(2) irsrid o
(8) &soacl

21. Andhra has suffered from severe 21_ 19 3 g@%oéﬁ so|SiTrotos’® SIS S

faminesin the 19" Century. The most 5800 ol. 1865-66 50¢555° doak
severe famine which occurred during S5 L5550 D502 HOTH 2
the years 1865-66 wa‘s known as (1) 7S
(1) The Kurnocol Famine

. (2) 8¢5 880
(2) The Cuddapah Famine
(3) The Ganjam Famine </ (3) Hoeslo S0

(4) rootard &)

(4) The Guntur Famine
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¢
22, Select the incorrect statements
about Bharatiya Poshan Krishi Kosh
(BPKK).
(1) Itisa repositoryof diversecrops across
128 agro-climatic zones in India
(2) It aims at reducing malnutrition
through a multisectoral results-
based framework
(3) Ithasbeen launched by the Ministry
of Woman and Child Development
(4) It specifically targets the Mid-day
meal programye being carried out
in schools

11

23. Who among the following was the
first Woman President of the Indian
National Congress ?

(1) Sarojini Naidu

(2) Annie Besant </
(3) Sucheta Kripalani
(4) Madam Cama

24, Consider the following statements;

A. Gautamiputra Satakarni took pride
in calling himself Gautamiputra or
the son of Gautami.

B. Gautamiputra ‘Satakarni was
succeeded by his son Gautamiputra
Yagnasri who ruled from 102-130

AD
Of the above, the correct statements are
(1) Only A </
2 Aand B
(3) Only B
(4) Neither A nor B

VSDA.

99, “erosdan IS K g's * (BPKK) /000

0 o) Hgoiod:

(1) 128 O DRy BT TTHIE
Ysotiero groGTrdo

(2) s Eross B, BUENT
oo (P WiEo

() Sotrer 5200k B> Bo§ THI0E
S5of)o08

() FeTed g §'ud OSSR
Bersor ¢y SoBEbige0

OB 2S00 SRR Dok S0y
ST
(1) 68D Frakacd

23.

(2) o Dok
(3) o S
@) el

3 808 ke $08oidod
APEXDS THKY, Bk ASAPEIIT
De5to Mgom™ eromeo.

24.

B. T80 755D HEE B HITEKED

TBAHG ool orerg §.5. 102 Sood
&4 130 56% 50DoTeso.
2 76 505 ST HGotod.
(1) A srgdy stgrogmif
(2) A 508ax0 B :
(3) B s
(4) A % $0a¥0 Bstsy |
(D)
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26. Four :
ki dm‘ﬂ?hﬂﬁml&iwer the Vijayanagara
ngdom in succession, Arrange them in
the chronological order,

A. Saluva Dynasty
B. Tuluva Dynasty
C. Sangama Dynasty
D. Aravidu Dynasty
(1) A,D, B, C

(2) B,D,C, A

(3) C,A, B, D

4) C,B,A, D

12

26. The pattern of Centre-State relations

in India can be traced back to
(1) The U. S. Constitution

(2) The Government of India Act, 19354

(3) Fazal Ali Committee Report
(4) Motilal Nehru Committee Report

27. Who described the Preamble of the

Constitution as “identity card” of the
Constitution ?

(1) Palkhivala «/”

(2) Ivor Jennings

(3) B. R. Ambedkar

(4) Sachitananda Sinha

The primary focus of Pradhan Mantri
Van Dhan Yojana is to

(1) Help to incre&se Tribal Inconte
through Value Addition -«
(2) Secure the Core Areas of the forests
to protect important wildlife
(3) Strategically allow mining for
important minerals within forests
with minimum changes to the area
(4) Promote Wildlife tourism for both
economic and educational benefit of

28.

D. exsaés Soido
() A, D,B,C
(2)B,D,C, A
(3 C,A,BD
(4 C,B,A,D

&9
26. roEtdos” Soigs T, HowoTeR o

oo

(1) edoBse oregorio

(2) arots s S0 1935
(3) e esd EDoed

(4) 3rserd 3 950¢

. 5
27, (% G BIRSH0000 SR O
oot 2

(1) dy=o
(2)2056 B0R,
(3) wu &).esb (08350

(4) SRSl o,
28, SErRSoold 35 $0 arek” G &g,
(1) ABes BSTrOITDE DenSisn oD PFFaho

(2) Soomg ] rowre S¥E SoBAKD 3
e00 HosEe

(3) etod EProso E}qjvféoi:e’.:om‘ m*az‘s“éﬁ
00h, PAzredy Bigto

(4) Sgeres 20°57A8 | DForyerod), Sl

the country

00y Doy MorareRs BowEo

@)
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VSDA

g9. The Satavahana kings maintaineq

90, TN OO D

ey DoET SER

the social structure haged W@‘lwﬁﬁ
\._-’m-nnshrnmnd‘.hnrmn, At l;h{? t;;,i:g ﬁﬂwmﬁﬁ ﬂfﬁi RIECL o,
time there was another classification i & v For
prevalent during the period based on esred oo GO Far 0

the social status of the people, Arrange 505000 ) 00 5ods.

the classes given below from the

highest status to lowest status. A i

A. Maharathas B. sostErEres

B. Mahamatras C. Hocesmen

C. Ghandikas D. &% redered

D. Lohavanijas

(1) A, B, Cand D
(2) A,D,Cand B

3) B,A,Cand D

4) C,B,Aand D

(1) A, B, C 5000 D
(2) A, D, C 5080 B
(3) B, A, C 50800 D
(4) C, B, A %080k D

30. The existence of child labour as the part | 30. (@ #8 ero SO0 G (OBE0H08 T
of the work force has been recognized Been G0t S0 SdihEad £ Hadays T
in various Indian laws. Which of the Soil DoxeTDRaRIFaees eo.
following was the first Act that fixed =
the minimum age of employment as (D) @oﬂ;ﬁfﬁmﬁ esp '31@;5 alrg
7 years ? . % O
(1) Employment of Children Act (2)PrsE0R 0
(2) Factories Act <~ (3) erok dab ::::IJ‘E
(3) Bonded Labour Act
(4) Plantation Labour Act (4) Y5E355 ub oXr§

31. Marriage is_ considered’as a sacred D" 31, 5680 Sok), Je?éﬁ T S5 SAGEapSeT

institution in Indian Culture. There
are different religious personal laws
that lay down marriage law in India.
In which of the following Acts is the
registration of marriage compulsory ?'
(1) The Hindu Marriage Act
(2) The Special Marriage Act<#*
(3) The Indian Buddhist Marriage
Act
(4) The Jain Marriage Act

rloBndnd. IVG SoTren BN BT
DR &m0, Ba (308 o) 0 TR0 DT
B3O BB e DAXreRd ABorth.

(1) Zrosy v B0

@) EBE I IO - g
(3) grEdal e JTTe &0
(4) E00 D B0

(D)
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32. The rights available to women in India
can be classifieq into two categories

namely Constitutional Ri
ights A
Legal Rights. s fnd

Whmh ofthe followingis nota constitutional
right in the above context ?

(1) No discrimination on the ground of
sex

(2) Making provisions for securing just
and humane conditions of work and
maternity relief

(3) Every citizen shall have the duty
to renounce practices derogatory to
the dignity of woman

(4) Prohibition of giving or taking
dowry during or any time after the
marriage from the woman 'J

33. Drunken driving is punishable under
(1) The Criminal Procedure Code
(2) The Motor Vehicles Act V"
(3) Indian Evidence Act |

(4) Road Safety Act

34. Governor of a State can be removed by
(1) Impeachment by State Legislature
(2) The President </
(3) By the Prime Minister

(4) The Union Government at the
request of the Chief Minister

(1) Borseas 2558 53

(2) 59 gheos® 55 3°
sstion oo @570 T

o3 ﬂgﬁmﬂi:

O
(3) Sotrvesss 20u56D ey 0570 ©

by el b o]

(8) Dot sl Setyio ook SOEEP

S:8%5¢ko 8GR

. \ 1
33, sat50 o wtsiscio e §o0 2 9
5800 BE05E5AR 60 ?

(1) 808 Foub 56
(2) Rrerdd Sriwre 960

(8P 5roB S 5 1930
(4) o0 g B&o

34. ORS00 560 Fohayth 9
(1) SHATK Borgdo TRO° 07 Tisise
(2) ogsd
(3) Borsood
(4) Sopgsood BSOS oS suBmes

D
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»

36

3ﬁl

37.

38.

, Who has Constityg;

onal Right to

Audience in al] Indian Courtg 9

(1) President
(2) Chief Justice of Indjq

(8) Attorney General <«
(4) Comptroller and Augitoy General

The Andhra state came into bei

: eing on
October 1% 1953, How many distficts
was the state divided into jn 19563 ?

2

© 11+*

@) 13
4) 23

Which of the following is considered to
be the largest job creation initiative in
modern history given that employment
as a legally enforceable right has not
been granted to citizens of any other
country other than India ?

(1) The Right to Food Campaign

(2) National Rural Employment
Guarantee Act

(3) Make in India
(4) Pradhan Mantri Jan Dhan Yojana

Inner Line Permit (ILP) is a document
that allows an Indian Citizen to visit
or a state protected by under the ILP
system. Which among-the following
States is covered under the system ?
(1) Nagaland Y 4

(2) Sikkim

(3) Himachal Pradesh
(4) Rajasthan

16

36.

36.

37.

38.

VSDA

rdiod’ D o0 H00gR TED L
500, 1 110 TergoiSER 362
(1) ogsd
(2) sobioS'sy BT TyEbITY
(3) HE.J“I'E'IJ erelol
(4) gogc)é ol esdesh eddd

b 1, 1953 & Syt €000
Tﬁﬁgg wolioriged” I BT
G007
1) 9
(2) 11
3) 18
(4) 28
65008 (D08 HOEE° wiHTeH &0
Koy 565, o Food &0 Sy SWo
B3e00IR08 50 B0 0.

(1)) et ), 0o
(2) edioth (TENES &l 5, B0
(8), 558 35 gocalr

(4) Eosscod e o ATres

o5 wi5ood Op (Inner Line Permit)
B5°008" g Frtoen §7) Tred™s
D%omroot] & U ekoid ST, & §30

Qod% U‘go
(1) ~rerok

(2) ©§,0
(3) ruorisd (504
(4) oers



33. In computer terminology, the full form
of malware is

(1) Multipurpose Software
(2) Malfunctioning Software
(3) Malicious Software '\/
(4) Migration of Software

40. Recently India has request an early
delivery of Meteor air-to-air missiles.
India is acquiring these missiles from
which of the following countries ?

(1) United States of America
(2) France
(3) Israel

(4) Russia/

41. Which of the following diseases is not
a viral disease ?

(1) Kyasanur Forest Disease
(2) Hepatitis B

(3) Chikungunya

(4) Parkinson’s disease /ag?”

42. Who of the following is the Author-of
the book ‘Asian Drama’ in which India
has been deseribed as a Soft State ?

(1) Jagdish Bhagwati

(2) Abhijit Vinayak Banerjee
(3) Amartya Sen

(4) Gunnar Myrdal <
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VSDA

- L=
89, “Malware” &3 gorysd O

D58otm
(1) sofseg® G0

(2) srdgog0oh F

(3) 5rOBonD FH0

(4) S >F0

r-to- al r

ﬁ&éﬂ ::j éj#ﬂ‘

?

40. T8S° $o0D TOSS “ai
SaIrRod “aem, &630” 870
5308 BOBNID $3ET

(1) edo0s®

2) @5
(3) FEsrcnd

(4) o3

41, e LoB T3 PO TR 5700
(1) 506 09 ahes
(2) Sre3e3D-D
(8) DSKmy
(4)28), 5255y &S

42. grostTY 6o oreore “Soft State”
@D BTSN EDoBeds NS "
(oqdy @SB 56 9

(1) enBSeinsd
(2) o8 ook B
(3) elogsas
(4) rob Zbr:g;e'j'
(D)

T/DSC



ﬁ 17
43. The World Social Justice Day is
celebrated every year on
(1) 14™ April
(2) 20" February v
(3) 4" June
(4) 5™ April

The “Belt and Road Initiative” has been
proposed by which among the following
countries ?

(1) India
(2) China
(3) Russia
(4) USA

44,

The COVID-19 National Teleconsultation

Centre also known as CONTEC has

been conceptualised by which of the

following Ministry ?

(1) Ministry of Information and

" Broadcasting

(2) Ministry of Health and Family
Welfare

(3) Ministry of Communication

(4) Ministry of Science and
Technology

45.

46. Which of the following pairs are

wrongly matched ?

(1) Aditya L1 Mission: ISRO’s scientific
mission to study the Sun

(2) XPoSat : A'satellite by ISRO to
study blackholes Vg

(3) Gaganyaan : India’s first planned
manned space mission

(4) Gemini : Satellite for enhancing the
DTH capabilities

43,

44,

45.

46.

VSDA

(ssots s OTYT HPE
ptiastoerds ?

(1) HES 14
(2) pessd 20

(3) e~d 4
(4) MRS 6

“Belt and Road Initiative” &% ST
SO>S Do

(1) godiale

(2) 2=

(3) 65

(4) esRodse

596 - 19 3556 DE5ES wotsb (CONTEC)
e 0T HOTEeDN SOdt; T

(1) AT, B0 SoBSE~p

(2) B, Soknom S0F50 S0 By T

(3) DDELTUEIS Soods TR
(@) &g oY Soods T

B+ (808 TS SIPT eSHOPDES e
foBood.

(1) 0¥ ohd-1 BS Sty edolso
550 P HoMRS TRAK eI WS
(2) MyFFeS - ¢ Dereo (blackholes)
egsaiiso 550 gRF S0 Fredges
(3) HASOIFS - e768 ook, Doéydoocsed
B0 NHere SO0 Sy Al
(4) 8200~ DTH F5o808" &) 3365
(D)
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47, thich among the following Harappan
sites is not located in India ?

(1) Mohenjodaro «/”
(2) Lothal

(3) Ropar

(4) Bhanwali

48. Which of the following pairs is not
matched correctly ?

(1) Dilwara temples — Mount Abu,
Rajasthan

(2) Konark Sun temple — Puri,
Odisha

(3) Dashavatar temple — Deoghar,
Uttar Pradesh

(4) Lingaraj temple — Kancheepuram,
Tamil Nadu

49. Identify the dynasty to which Queen
Rudramadevi belonged to.

(1) Chalukyas of Badami
(2) Pandyas of Madhurai
(3) Kakatiyas of Warangal ~

(4) Eastern Chalukyas of Vengi

50. The.book “Poverty and Unbritish fule
in India” was written by who among

the following ?

(1) Dadabhai Naoroji «/*
(2) R. C. Dutt

(3) M. N. Roy

(4) Motilal Nehru

VvSDA
(1) awiroed ;
(2) &%
(3) &b
(4) 5D

559
48, s 2oB Te3S" DO O iS00

(1) &0 Barocired - 530
D"ﬁ.ﬂ;ﬁ

(2) Ser, srtfreaso - 0, 44T
(3) S5t Bireabo - BOFED, &80

35 9239,

(4) Sorores BTeoeldS - o0,
BAOTT S

49. o3 BE3580 B o7 DoBRTE 7
(1) eroedo T0EED
(2) 556550, rotseo
(3) HESKS stEdatoeD

(4) Sofl sty TR0

50. “Poverty and Unbritish rule in India”
D DS N8 IS5 ?

(1) oorerah T&
(2) esb.d. 65§
(8) Jo.d0. U0

(4) 23S DT
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51. Model based on user's Tequirementg i
(1) Logical model

@ Physical model
) Conceptual model
(4) None of these

52, __ 1s generally fastey i
and ,

(1) first fit, best fit, worst fit <
(2) best fit, first fit, worst fit

(3) worst fit, best fit, first fit
(4) none of these

53. Status bit is also called
(1) Binary bit
(2) Flag bit
(3) Signed bit
(4) Unsigned bit

54. How many binary digits are required
to count to 100,, ?

e
©) 2

) 3

(4) 100

55. You have a network that needs 29
subnets while maximizing the number
of host addresses available on each
subnet. How many bits must you
borrow from the host field to provide
the correct subnet mask ?

(1) 2
@3 +*
(3) 4

(4) 5

56.

57.

28,

VSDA

Where are EIGRP successor routes

stored ?
(1) In the routing table only

(2) In the neighbor table only

(3) In the topology table only

(4) Inthe routing table and the topology
table

A program which translates high
level program into machine code is

classified as

(1) Compiler \,

(2) Translator

(3) Instruction analyst
(4) Translating analyst

The waveguide tuning component,
which is not easily adjustable, is

7 (1) Screw

59.

@) Iris &
(3) Stub
(4) Plunger

Asper Indian Standard, the permissible
range of power supply frequency is

(1) 49.5 to 50.5 Hz </
(2) 49 to 51 Hz

(3) 48 to 52 Hz

(4) 47.5 to 52.5 Hz
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60. Which are the two waysin which entities | 64, When using ¢¥°

e B . B # & d ?
can participate in a relationship ? parity bit place

(1) Passive and active (1) Before the MSB

(2) Total and partial </ (2) After the LSB

(3) In the parity word [

(3) Simple and complex it
(4) After the odd parity b1

(4) All of the above

! - ' s electric
61. Photo-voltaic cell produce 65. At room temperature, _
ctor 18

energy from oom .
intrinsic semicondu

(1) Electromagnetic energy
_ (1) Holes

(2) Electrostatic energy
(3) Geothermal energy
(4) Both (1) and (2) above

(2) Electrons
(3) Ions
(4) Holés@and electrons \’

62. Scheduling is done so as to C ) _
66. The database schema is written 1n

(1) increase the response time

(2) keep the response time the same ﬂv (1) HLL

(3) decrease the response time (2) DML
(4) None of these (8) DDL\’
(4) DCL

63. In a program using subroutine call

instruction, it is necessary to 67. The OS X has

{1)— Initi:.-:iliza program counter (1) Monolithic kernel

(2) Clear the accumulator (2) Hybrid kernel ﬂ/

(3) Reset the microprocessor (3) Micro kernel

(4) Monolithic kernel with modules

(4) Clear the instruction register
(D)
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68. The access time of memory jg
the time required for performiy
single CPU operation,

(1) Shorter than
(2) Negligible than
(3) Same as

(4) Longer than <

E any

69. All integers and decimal numbers are
represented in form of

(1) Whole numbers

(2) Complex numbers

(3) Real numbers <
(4) Prime numbers

70. If you use either Telnet or FTP, which
is the highest layer you are using to
transmit data ?

(1) Application o
(2) Presentation
(3) Session

(4) Transport

71, ISP stands for
(1) Interrupt Service Procedure
(2) Interchange Standard Protocol
(3) Information Standard Processing

(4) Instruction Set Pointer

VSDA

79. In binary number system, first digit bit
(rom right to left is termed as

(1) LSB </
(2) MSB
(3) RSB
(4) YSB

73. Qutput of a digital multimeter is
(1) mechanical
(2) optical

(3) electrical -u’

(4) analog

74. In FM

(1) Noise decreases by increasing
“Wdeviation

(2) Noise decreases by decreases
deviation

(3) Noige decreases by maintaining
deviation constant

(4) None of the above

75. Two dc series motor are coupled. One
motor runs as generator and the other
as motor. The friction losses of the two
machines will be equal when

(1) Both operate at same voltage
(2) Both have same back emf
(3) Both have same speed > 4
(4) Both have same excitation

(D)
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76, If your routing table has a static, a
RIP and an IGRP route to the same
network, which route will be used to
route packets by default ?

(1) Any available route
(2) RIP route

(3) Static route ‘\/
(4) IGRP route

77. Whatis an angle of phase shift for each
designed RC network in the Phase
Shift Oscillator circuit ?

(1) 30°

(2) 60° <« ol
(3) 90° :
(4) 180°

78. The shaft torque of a dec motor is less
than its armature torque because of

(1) Copper losses

(2) Mechanical losses

(3) Back emf

(4) Rotational losses q/ '

79. The smallest change in mefdsured
variable to which instrument will
respond 18

(1) Resolution «/*
(2) Accuracy

(3) Precision

VSDA

ency and system voltage

puwer ¢

(2) Active power, active power

80. System frequ
respectively control
(1) Active power, reactive

(3) Reactive power, reactive power
(4) Reactive power, active power
81. ISDN is a(n) technology.
(1) Wireless
(2) Copper wire «/*
(8) Twisted-pair
(4) Coax and fiber

82. The number of bushings in a

transformer can be reduced if

(1) Thetapping are provided at the
Ehase ends "

(2) The tapping are provided at the
high voltage side

(3) The tapping are provided in middle
of the transformer

(4) The tapping are provided on the low

voltage side

83. data type can store

unstructured data.
(1) RAW

(2) CHAR

(3) NUMERIC

(4) Sensitivity

(4) VARCHAR
(D)
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84. For effective operating

system, whoen
to check for deadlock ?

(1) Every time n resource request ig
made

(2) At fixed time intervals
(3) Both (1) and (2) «/*
(4) None of the mentioned

85. If the main memory is of 8K bytes and
the cache memory is of 2K words, It
uses associative mapping. Then each
word of cache memory shall be

(1) 11 bits
(2) 21 bits

(3) 16 bits </

(4) 20 bits

86. Near-avalanchebreakdown in MOSFET
1s an ultimate outcome of

(1) First order effects

(2) Second order effects g/
(3) Third order effects

(4) None of the‘above

87. 1s the power ratio of one
decibel.
(1) 1.26: 1 </
2y 2:1
(3)6:1
(4) 10:1

-

VSDA

88, The air cores in transformers are

preferred for
(1) Low frequency transformers
(2) High frequency transformers ¢

(3) 5 kVA, 60 Hz transformers
(4) None of these

89, The coil of a moving coil meter has

100 turns, is 40 mm long and 30 mm wide.

" The control torque is 240 x 10-°* N-m on

full scale. If magnetic flux density is

1Wb/m? range of meter is
(1) 1 mA
2 2 mA </
(3) 3 mA
(4) 4 mA

a -
"

90..Series reactor should have

(1) High sequence 0
(2) High impedande
{3 Low resistan::e‘/

(4) Low impedance

91. Atop-to-bottom relationship among the

items in a database is established by a
(1) Hierarchical schema <«

(2) Network schema

(3) Relational schema

(4) All of the above

(D)
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92. D
*tdlock provention is a set of | 96, Which of the following encapsulates
methodg PPP frames 10 Et.hernEt frames
and uses common PPP features

(1) to ensure that at least one of the

. encryption and
necessary conditions cannot hold

like authentication,
compression 7

(2) to EI{sum that all of the necessary (1) PPP

conditions do not hold (2) PPPoA
(3) todecide if the requested resources (3) PPPoE

for a process have to be given or (4) Token Ring

not ' ;
(4) to recover from a deadlock: 97. Variable with a restricted name in only

one subroutine program is classified as
93. Cache mmemory works on the principle of (1) Local variable

(1) Lucality of duti ‘/; - ) (2) Global variable

(8) Default variable

(2) Locality of memory , (4) Middle variable

(3) Locality of reference

(4) Locality of reference and memory 98. When diodes are connected in series
e to ificrease voltage rating, the peak
inverge voltage per junction

94. Convert binary to octal :
(1) shouldnotexeceed halfthe breakdown

(110110001010), = ?

voltage
(1) (5512), ' _ (2) should'not exceed the breakdown
@ (©612), 4" * | voltage
(3) (4532), (3) should not exceed one third the
U s breakdown voltage
s (4) may be equal to or less than
| breakdown voltage
95. Third component in algorithms is
classified as 99. For negative polarity transmission, the
(1) Selection «” polarity of video detector at the output
4 N of video detector is |
) Data repetition (1) Positive </
(3) Statement repetition (2) Negative
(4) Stating order of operations (3) Neither of two

(4) Intermediate
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101.

102,

103.

104,

D
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» Which of the following motors is usually
used in household refrigerators ?

(1) D.C. shunt motor
(2) Reluctance motor

(8) Single phase induction motop (split
phase start or induction run motor)

(4) Synchronous motor

To test the IP stack on your local host,
which IP address would you ping ?

(1) 127.0.0.0
@) 1.0.0.127
(3) 127.0.0.1
(4) 127.0.0.255

A trap circuit is a
(1) Resistor

(2) Capacitor

(3) Tuned circuit

(4) Inductor <

Efficiency of a half wave rectifier is
(1) 50%

(2) 60%

(3) 40.6%

(4) 46%

Overloading

(1) damages the meter J
(2) increases the temperature
(3) doesn't affect the meter

(4) decreases the sensitivity

106.

106.

107.

108.

109.

VSDA

Running cost of power plant ig based

on the cost of

(1) Energy or fuel
(2) Consumable items
(3) Maintenance and operation

(4) All of these v 4

Multimeter can be used as an

ammeter by
(1) connecting series resistances

(2) making use of a transducer
(3) making use of a transformer

.(4) connecting shunts

The principal type of failure in wind
power generation 1s in

(1) Aerodynamic system-\/

(2) Electrical system —r,

(3) Methanical system

(4) Both (2) and (3) above

DBMS helps to achieve )
(1) Data independence

(2) Cenifralized control of data
(8) Neither (1) nor (2)

(4) Both (1) and (2) /"

In priority scheduling algorithm

(1) CPU is allocated to the process with
highest priority

(2) CPU is allocated to the process with
lowest priority

(3) Equal priority processes cannot be
scheduled

(4) None of the mentioned



-

110. A register capable of shifting its binary

information either to the right or the
left is called g

(1) Parallel Register
(2) Serial Register

(3) Shift Register '\/
(4) Storage Register

111. A process is selected from the
queue by the scheduler, to be
executed.

(1) blocked, short term
(2) wait, long term

(3) ready, short term 4;/
(4) ready, long term

112. If too large current passes through the
diode

(1) All electrons will leave
(2) All holes will freeze

(3) Excessive heatunay.damage the
diode

(4). Diode will emit light

113. A satellite used for international
communication 1s known as

(1) Comsat
(2) Domsat

(3) Intelsat \/

(4) None of these

26

VSDA

114. The speed of a dc series motor decreases
if the flux in the field winding

(1) Remains constant
(2) Decreases

(3) Increases -\/

(4) None of these

115. What is the effect of IC chips on DVM?
(1) Increase in cost
(2) Increase in power
(3) Reduction in cost w’

(4) Increase in size

116. What is the significance of adopting
andnterdigitated structure of power
transistors 7
(1 Prevention of current crowding
(2) Maintafiance of reasonable current

densities
3) Both (1) and (2) ~*
(4) None of the above

117. Communication consists of electrical

means of Information.
(1) Sending

(2) Receiving

(3) Processing

(4) All of the above «/”

(D)
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118. The following medium j employed f, atenation of two lists is to be
or

122, The conc

extinction of arc in gj, brake irey ormed in O(1) time. Which of the
TR :')elti:wiﬂg implementations of a list
(0Lt v st;nuld be used ?

oy (1) Singly linked list

(3) Water

(2) Doubly linked list

(4) None of these (3) Gircular doubly linked list <~/

the following components except
(1) Users

123. The statement in SQL which allows
changing the definition of a table is

(2) Separate files (1) Alter </
(3) Database

(2) Update
f‘g Dﬂtahase' administratﬂr (3} Create

(4) Select

120. The overall /O rate in RAID level 4 is
(1) Low 124. If a disk fails in RAID level
(2) Very low rebuilding lost data is easiest.
(3) High o/ {h 13
- 2y 2

(4) None of these

(3) 3

(4) 4

121. The high torque to weight ratio in

an analog indicating instrument | j9¢ Interrupts which are initiated by an

indicates instruction are '
(1) Low friction loss ‘/ (1) Internal

(2) High friction loss ; (2) External

(3) Nothing related to friction loss (3) Hardware

(4) None of these (4) Software \’

(D)
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126. Which of the following is a legal

127,

128.

129,

Erﬂ

expression in SQL ?

(DSELECT NULL FROM
EMPLOYEE;

(2 SELECT NAME FROM
EMPLOYEE; <

(3) SELECT NAME FROM
EMPLOYEE WHERE SALARY =
NULL;

(4) None of the above

RAID level 3 does not have

as in RAID level 1.

(1) Efficiency

(2) Enough storage space for data

(3) Storage uverhead'\/

(4) Time consumption overhead View
Answer

The circuit used to store one bit of data
is known as '

(1) Register )

(2) Encoder

(3) Decoder

(4) Flip Flop=a,”

If the decimal number is a fraction then
its binary equivalent is obtained by
the number continuously

by 2.

(1) Dividing

(2) Mu]tiplying"
(3) Adding

(4) Subtracting

VSDA

130, What is split horizon ?
(1) Information about a ruute. Ehﬂl:lld
not be sent back in the direction
from which the original update

came.«\/

2) It splits the traffic when you have
a large bus (horizon) physical

network.

(3) It holds the regular updates from
broadcasting to a downed link.

(4) It prevents regularupdate messages
from reinstating a route that has
gone down.

Consider the join of a relation R with
relation S. If R has'm tuples and S has
n tuples, then the maximum size of join is

(1) mu %
(2) min

@) (m+n)/2
(4) 2(m+n)

131.

Effective access time is directly
proportional to

(1) page-fault rate J

(2) hit ratio

(3) memory access time

(4) none of the mentioned

132,

Representation of hexadecimal number
(6DE) H in decimal

(1) 6*16%+13* 16! + 14 * 16"/
@) 6*16°+.12*%16" 13 * 16"

(3) 6*16%+ 11 * 16'+ 14 * 16°

(4) 6*16°+14*16'+ 15 * 16°

133.
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134. What commangd wi)) :
permig ‘
toonly host 1.1,1,1 9 1t SMTP 1maj]

(1) Access-list 10 per
) B Sy P |

(2) Access-list 11 per
1.11.1

mit smtp h ost

mit ip smtp hogt

(8) Access-list 10 peymj

te
£LL1eq iy P any host

(4) ACCESS*liEt 110 permit

tep an,
1405 s huik, P any host

135. Which among the below mentioned
parameters of transistors is/are likely
to get affected o exhibit/s variations
due to increase in temperature ?

(1) Base-to-Emitter Voltage (VBE)
(2) Reverse Saturation

Current
(ICBO)
(3) Current Gain (Bde)
(4) All of the above
136. The octal equivalent of t

he decimal
number (417),,is s ‘

(1) (641), <
2) (619),

(3) (640), "
(4)(598),

137. How many non-overlapping channels
are available with 802.11h ?

(1) 3
©2) 12
©) 23 <

(4) 40

VSDA

138. An assembler translates
(1) Routine into subroutine

(2) Processing time into manual time

(3) Assembly code into machine code o/

(4) Machine code into assembly code

Which of the following has highest
resistivity ?

(1) Mica

(2) Paraffin wax

3) Air

(4) Mineral o1l

139.

140. The armature winding of repulsion

motor is excited
(1) Conductively
(2) Thduckively <
(3) Resistively

(4) None of the above

141. In monolithic ICs, all the components

are fabricated by

(1) Diffusion process ¢
(2) Oxidation

(3) Evaporation

(4) None

142. The colour TV system used in India is

(1) NTSC

(2) PAL-B +/
(3) SECAM

(4) None of these

(D)
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143, .
3. The eddy-current loss in the alternator
will be minimum if the air gap

30

(1) Between poles and the slots of the

armature is large compared to
width of the slot </

(2) Between poles and the slots of the
armature is minimum compared to
width of the slot

(3) Does not exist

(4) None of the above

144. Which one of the following designs
is both software and hardware
independent ?

(1) Logical

(2) Physical

(3) Conceptual

(4) None of the above "

145. Decode the following ASCIL message.
10100111010100101010110001001011001
01000001001000100000110100101000100
(1) STUDYHARD
(2) STUDY HARD ~*

(3) studyhard
(4) study hard

146.

14?.

148.

149

150.

VSDA

Current can be measured effectively by
making use of

(1) D.C. voltmeter

(2) A.C. ammeter

(3) D.C. ammeter

(4) A.C. voltmeter Y 4

Heavy water implies
(1) H,0
@) W,0
(3) B,O

4) D,0 <

The minimum number of stacks needed
to implement a queue 1s

(1) 3
@)1
(3) 2
(4) 4

The logieal data structure with a
one-to-many relationship is a

(1) Network

(2) Tree

(3) Chain

{(4) Relationship

The communication between the
components in a microcomputer takes
place via the address and

(1) 1/0 bus

(2) Data bus > 4

(3) Address bus
(4) Control lines

(D)
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Instalment (EMI) Facility Available

Signup For Free Trial Classes Now

& Click here to Visit @.www.AchieversNext.com

& Click to Download () Achievers Next App
Call Now for Details ® 9966 107 515, 9966 107 516

Visit www.AchieversNext.com or Call on 9966107516 for #1 Online Coaching for APPSC/Police/RRB/TET/DSC


https://achieversnext.com



